DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 1)

Name:
TEST 1 Time: Score: y—
) —6139 =10 = 16) 2451+ 1=

2 —4T785+5 =
5 —15192 +8 =

1) —73.296 =8 =
5 2709 +1=

6 796.68 + (—9) =
n —=216.3+6=

9 217+ (—10) =
9 —69.04 +0.2 =
0 —18.84 + 0.5 =
- —699.7 + 10 =
12) —12835 +5 =

13 —=bA71.2 + 7=
1) —=8.561 <+ 0.007 =

15) 33248 -8 =

Mathematics: Division - Level 6 - Horizontal - Set 1
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0.5037 = (—0.03) =
—15.795 = 0.09 =
0.618 + 0.3 =
1.6575 = (—0.05) =
—82440 + 10 =
—4459 + 5 =
4446.4 + 8 =
—55.26 + 0.6 =
—88230 + 10 =
—70461 + 9 =

589.4 + 0.7 =

—296.64 + (—0.08) =

45.44 + (—0.2) =

2038.2 + (—0.3) =
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